



اسم: _____

التاريخ: _____ النتيجة _____

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{12}$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{13}{45}\right)$$

$$\left(\frac{3}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \frac{11}{6} = 1\frac{5}{6}$$

$$\left(\frac{3}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \frac{29}{15} = 1\frac{14}{15}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{19}{150}\right)$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \left(-\frac{5}{6}\right)$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{2}{5} = \frac{82}{5} = 16\frac{2}{5}$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{11}{3}\right) = \left(-3\frac{2}{3}\right)$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{71}{45} = 1\frac{26}{45}$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{3}{4} = \frac{61}{4} = 15\frac{1}{4}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{2} = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{5} = \frac{32}{45}$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{6}\right) = \frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{5}\right) = \frac{1}{20}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{5} = \frac{1}{20}$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{1}{5}\right) = \left(-\frac{17}{15}\right) = \left(-1\frac{2}{15}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$